Algebra 1

Unit 2A Quiz Review
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Solve each equation and justify your solution with properties of equalities.
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Solve each inequality.
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Solve each equation for the indicated variable.
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For the following word problems, create an equation that models the problem. Then solve your
equation,

19) The sum of two consecutive integers is
-23. What are the two integers?

20) The sum of two consecutivt}"tg’g'_’cars
is 166. What is the largest integer?
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21) The sum of three consecutive integers is
90. What are the three integers?

22) The sum of two consecutive integers is

225. Find the two integers.
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23) Three times a number decreased by 4 is
-28. Find the number.

24) The sum of double a number and 7 and3 1.
Find the number.
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25) The quotient of a number and 4 is -4.
Find the number.

26) The length of a rectange is 3 less than 4
times the width. The perimeter is 34.
W Find the length and width.
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